ECN 3890
Spring 2007
Answers to Homework 2

a-c.)
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d.)
To separate the effects, we draw a line parallel to the original (steeper) budget constraint and tangent to U2.  From A to C is the income effect (parallel move which holds wage constant).  From C to B is the substitution effect (change in wage holding utility constant).  The substitution effect outweighs the income effect because wage falls and the quantity of labor supplied falls.


The income effect suggests that, since the wage has fallen, Joseph is less wealthy.  Thus, since leisure is a normal good, the individual will demand less leisure (work more).  Note that point C MUST lie to the left of point A.


The substitution effect says that a drop in the wage makes leisure less expensive.  Joseph will want to buy more leisure since it is cheaper which means he will work less.  Note that point B MUST lie to the right of point C.
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